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U 1. 00000000 xz=05000000.038
0.0 0.1 0.2 0.3 0.4 0.5

y | 1.00000 | 1.10000 | 1.21000 | 1.33100 | 1.46410 | 1.61051

020000000000 2=05000000.0013
z | 0.0 0.1 0.2 0.3 0.4 0.5
y? | 1.00000 | 1.10000 | 1.21550 | 1.34313 | 1.48416 | 1.63999
y | 1.00000 | 1.10500 | 1.22103 | 1.34923 | 1.49090 | 1.64745




030000000000 2=05000006.32x10"7
z | 0.0 0.1 0.2 0.3 0.4 0.5

y | 1.00000 | 1.10517 | 1.22140 | 1.34986 | 1.49182 | 1.64872
k1 | 0.10000 | 0.11052 | 0.12214 | 0.13499 | 1.49182
ko | 0.10500 | 0.11052 | 0.12825 | 0.14174 | 0.15664
ks | 0.10525 | 0.11632 | 0.12855 | 0.14207 | 0.15702
ks | 0.11053 | 0.12215 | 0.13500 | 0.14919 | 0.16488

04 00000000000000000 x=050000100.0028
z | 0.0 0.1 0.2 0.3 0.4 0.5

y? | 1.00000 | 1.10000
y | 1.00000 | 1.10500 | 1.22075 | 1.34861 | 1.48987 | 1.64592

05 0000000000000 2=05000010-0.00055
z | 0.0 0.1 0.2 0.3 0.4 0.5

y? | 1.00000 | 1.10000
yo | 1.00000 | 1.10500 | 1.21579 | 1.34372 | 1.48513 | 1.64143
f1 | 1.00000 | 1.10500 | 1.21579 | 1.34372 | 1.48513 | 1.64143
y1 | 1.00000 | 1.10525 | 1.22131 | 1.34984 | 1.49190 | 1.64980
f2 | 1.00000 | 1.10525 | 1.22131 | 1.34984 | 1.49190 | 1.64980
y2 | 1.00000 | 1.10526 | 1.22159 | 1.35015 | 1.49223 | 1.64928
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